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Algebraic Expressions
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Fill in the tables:
@ X 3 5 7 @ y 30 18 | 15 8
x+5 8 35-y | 5
® z 2 | 10 | 16 @ X 0 9 | 45 | 78
X
Tz 70 T 26
KT o &R EF%KaGME
Find the values of the algebraic symbols :
@ A+13=25 A= ®@ %:13 B=
@ 21-c=1 C= @ 9D=54 D=
® E-16=28 E=_ ® 80-F=65 F=_
3G _ _ 15 _ _
@T—Q G=__ 5H =3 H=__
© 61+6=60 [= 0 J+3J=12 J=
@%:2 K= @ 3+2L=9 L=
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Circle the answers :
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There are 32 oranges and x apples in a shop. There are 60 pieces of
fruits altogether. Set up an equation to find x.

A.x+32=60 B.60-32=x C.x-60=32
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Mum is y cm tall while Dad is 165cm tall. Mum is 5cm taller than Dad.
Set up an equation to find y.

A.y=16545 B.y-165=5 C.165-y=5
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There are z candies in a box. After they are divided evenly into 4 bags,
each bag contains 18 candies. Set up an equation to find :z.

4 13 B. 4 =18 C.4z=18
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Mandy has 133 stamps and Eva has y stamps. Mandy has 13 less stamps
than Eva. Set up an equation to find .

A.y-133=13 B.y=133-13 C.y+13=133
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There are x boxes of chocolate with 12 pieces in each box. There are 168
chocolates altogether. Set up an equation to find x.

A 12x=168 B.12+x=168 c.lizlss
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